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GROUP I  

 

1. Which Biodiversity park in India was announced as the 1st “Other Effective Area – 
based Conservation Measures” (OECMs) site? 
a. Tilpath Valley Biodiversity Park  b. Aravalli Biodiversity Park 

c. Yamuna Biodiversity Park   d. Adayar Ecopark 
e. tpil njhpatpy;iy 
,e;jpahtpy; cs;s ve;j gy;Yaph;g; G+q;fh> KjyhtJ gaDs;s gFjp rhh;e;j ghJfhg;G 
jskhf (OECMs) mwptpf;fg;gl;Ls;sJ. 
a. jpy;gj; gs;sj;jhf;F gy;Yaph;g; G+q;fh  b. Muty;yp gy;Yaph;g; G+q;fh 
c. aKdh gy;Yaph;g; G+q;fh    d. milahW Rw;Wr;#oy; G+q;fh 
e. tpil njhpatpy;iy 
 

2. PM Gatishaki is a transformative approach for economic growth and Sustainable 
Development which focuses on 
a. Educational Development    b. Multimodal Connectivity 

c. Empowerment of SHGs    d. Environmental Development 
e. Answer not known 
PM fjprf;jp vd;gJ nghUshjhu tsh;r;rp kw;Wk; epiyahd tsh;r;rpf;fhd khw;W 
mZF KiwahFk; ,J _____ ,y; ftdk; nrYj;JfpwJ. 
a. fy;tp tsh;r;rp   b. gd;Kf ,izT  c. SHGs-d; mjpfhuk; 
d. Rw;Wg;Gw #o;epiy tsh;r;rp  e. tpil njhpatpy;iy 
 

3. Which one of the following is NOT an objective of the Union Government’s ‘Beti 
Bachao Beti Padhao’ scheme? 
i. Prevention of gender biased sex selective elimination 
ii. Ensuring survival and protection of the  Girl child 
iii. Ensuring education and participation of the Girl child 
iv. Creating a fixed deposit in the name of the Girl child concerned 
a. i only   b. i and ii    c. iii only 
d. iv only   e. Answer not known 
fPo;fhz;gtw;Ws; vJ ‘Ngl;b gr;Nrh> Ngl;b gj;Njh’ vDk; xd;wpa murpd; jpl;lj;jpd; 
Nehf;fk; fpilahJ? 
i. ghypd mbg;gilapyhd Njh;T ePf;fj;jpidj; jil nra;jy; 
ii. ngz; Foe;ijfspd; tho;T kw;Wk; ghJfhg;gpid cWjp nra;jy; 
iii. ngz; Foe;ijfspd; fy;tp kw;Wk; gq;Nfw;gpid cWjp nra;jy; 
iv. rk;ge;jg;gl;l ngz; Foe;ijapd; ngahpy; epue;ju itg;Gj; njhifia 

Vw;gLj;Jjy; 
a. i kl;Lk;   b. i kw;Wk; ii    c. iii kl;Lk;  
d. iv kl;Lk;   e. tpil njhpatpy;iy  
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4. Arrange the following Indian Women Olympic Medal Winners in Chronological 
order 
1. Saina Nehwal 
2. Lovlina Borgohain 
3. Sakshi Malik 
4. Karnam Malleswari 
a. 2, 4, 1, 3   b. 1, 4, 2, 3   c. 4, 1, 3, 2 

d. 4, 1, 2, 3   e. Answer not known 
xypk;gpf; Nghl;bapy; gjf;fk; ntd;w gpd;tUk; ,e;jpa kfspiu fhythpirg;gb 
Kiwg;gLj;jTk; 
1. irdh nethy; 
2. yt;yPdh nghh;Nfhifd; 
3. rh~P khypf; 
4. fh;zk ky;Ny];thp 
a. 2, 4, 1, 3   b. 1, 4, 2, 3   c. 4, 1, 3, 2 
d. 4, 1, 2, 3   e. tpil njhpatpy;iy 
 

5. Carolyn Bertozzi, Morten meldal and Barry sharglers won the 2022 Nobel prize in 
Chemistry for? 
a. For the development of click chemistry and bioorthongonal chemistry. 
b. For discoveries concerning the genomes of extinct hominins and human 

evolution. 
c. For the development of asymmetric organocatalysis. 
d. For the development of a method for genome editing 
e. Answer not known 
fNuhypd; ngh;Nlh]p> Nkhh;ld; nky;ly; kw;Wk; Nghp ~hh;f;yh;]; MfpNahh; 2022 Mk; 
Mz;Lf;fhd Ntjpapaypy; vjw;fhf Nehgy; ghpir ntd;whh;? 
a. fpspf; nfkp];lhp kw;Wk; gNah Mh;j;Njhfdy; nfkp];l;hpapd; tsh;r;rpf;fhf 
b. mope;JNghd N`hkpdpd;fspd; kugZf;fs; kw;Wk; kdpj ghpzhkk; gw;wpa 

fz;Lgpbg;GfSf;fhf 
c. rkr;rPuw;w Mh;fNdhfhlyprp]pd; tsh;r;rpf;fhf 
d. kugZ vbl;bq; Kiwapd; tsh;r;rpf;fhf 
e. tpil njhpatpy;iy 

 
6. Which one of the following Indicator is not used to calculate Human Development 

Index (HDI)? 
a. Life Expectancy   b. CPI    c. Education Index 
d. Per Capita Income  e. Answer not known 
gpd;tUtdtw;wpy; ve;j xU Fwpfhl;b kdpjts Nkk;ghl;Lf; FwpaPl;ilf; fzf;fpl 
gad;gLj;jg;gLtjpy;iy? 
a. tho;ehs; fhy msT  b. Efh;Nthh; tpiy FwpaPL   c. fy;tp FwpaPL
   
d. jdpegh; tUkhdk; e. tpil njhpatpy;iy 
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7. Kalaignarin Anaithu Grama Orunginaintha Velan Valarchi Thittam aims at  
1. Increasing the cultivable area 
2. Bringing fallow land under cultivation 
3. Changing the crop pattern with introduction of new crops. 
4. Augmenting water resources 
a. 1, 2 and 3 are correct  b. 2, 3 and 4 are correct  c. 1, 2 and 4 are 
correct  
d. 1, 2, 3 and 4 are correct  e. Answer not known 
fiyQhpd; midj;J fpuhk xUq;fpize;j Ntshz; tsh;r;rp jpl;lj;jpd; Kf;fpa 
Nehf;fk; 
1. rhFgb gug;ig mjpfhpf;f nra;jy; 
2. njhlh;e;J epyj;ij rhFgbf;F nfhz;L tUjy; 
3. Gjpa gaph;fis mwpKfg;gLj;Jtjd; %yk; gaph; Kiwia khw;Wjy; 
4. ePh; Mjhuq;fis ngUf;Fjy; 
a. 1> 2 kw;Wk; 3 Mfpait rhp   b. 2> 3 kw;Wk; 4 Mfpait rhp 

c. 1> 2 kw;Wk; 4 Mfpait rhp   d. 1> 2> 3 kw;Wk; 4 Mfpait rhp 
e. tpil njhpatpy;iy 
 

8. Which among the following is a scheme of Govt. of India for ensuring the safety and 
dignity of sanitation workers? 
a. Smile    b. Namaste   c. Amber 
d. West    e. Answer not known 
,e;jpa murpd; gpd;tUk; jpl;lq;fSs; Jg;GuT njhopyhsh;fspd; ghJfhg;igAk; 
kjpg;igAk; cWjp nra;tJ vJ? 
a. ];iky;    b. ek];Nj   c. mk;gh; 
d. nt];l;    e. tpil njhpatpy;iy 

 

9. Which among the following institutions secured no.1 overall rank according to 
national institutional ranking framework? 
a. IIT, Madras  b. IISC, Bangalore  c. AIIMS, Delhi 
d. IIT, Bombay  e. Answer not known  
gpd;tUk; epWtdq;fspy; vJ Njrpa epWtd ju fl;likg;gpd; gb xl;Lnkhj;j 
juthpirapy; Kjyplj;ijg; ngw;wJ? 
a. IIT, nrd;id  b. IISC, ngq;f@h;  c. AIIMS, nly;yp 
d. IIT, Kk;ig  e. tpil njhpatpy;iy 

  

10. Operation London Bridge is the  
a. Funeral Plan for Queen Elizabeth II 
b. Process of selecting the Prime Minister of UK 
c. Joint Military exercises of NATO countries 
d. Evacuations due to Russia – Ukraine War 
e. Answer not known 
yz;ld; ghyk; eltbf;if vd;gJ 
a. kfhuhzp ,uz;lhk; vyprngj;jpd; ,Wjp Ch;ty epfo;Tfs; 
b. UK gpujk ke;jphpia Njh;e;njLg;gjw;fhd nray;Kiw 
c. NATO ehLfspd; $l;L ,uhZt gapw;rp 
d. u~;a – cf;iud; Nghhpd; NghJ ntspNaw;wy; 
e. tpil njhpatpy;iy. 
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11. The government has initiated the following key aspects for facilitating the MSME 
sector: 
i. Access to credit   ii. Access to market 
iii. Technology upgradation iv. Social security for MSME sector employers 
Select the correct option. 
a. i and ii only   b. i, ii and iii only   c. ii and iv only 
d. i,ii, iii and iv   e. Answer not known 
MSME d; Jiwia vspjhf;Ftjw;F murhq;fk; gpd;tUk; Kf;fpa mk;rq;fisj; 
njhlq;fpAs;sJ. 
i. fld; mZfy;   ii. re;ij mZfy;  iii. njhopy; El;g 
Nkk;gLj;Jjy; 
iv. MSME ,d; Jiw Copah;fSf;fhd r%fg; ghJfhg;G 
FwpaPLfisg; gad;gLj;jp rhpahd tpilapidf; fhz;f. 
a. i kw;Wk; ii kl;Lk;  b. i, ii kw;Wk; (iii) kl;Lk; c.  ii kw;Wk; iv kl;Lk;  
d. i, ii> iii kw;Wk; iv e. tpilnjhpatpy;iy 
 

12. Which one of the statements is correct for Li-ion batteries? 
a. While the battery is discharging, the anode releases lithium ion to the cathode 
b. While the battery is discharging, the cathode releases lithium ion to the anode. 
c. While the battery is charging, the anode releases lithium ion to the cathode 
d. While the battery is charging the cathode doesn’t releases lithium ion to the anode 
e. Answer not known 
Li – madp Ngl;lhpfSf;F/kpd;fyd;fSf;F gpd;tUk; $w;Wfspy; vJ rhpahdJ? 
a. Ngl;lhp kpd;dpwf;fk; milAk;NghJ Li madpfs; MNdhbypUe;J Nfj;NjhLf;F  

ntspaplg;gLfpwJ. 
b. Ngl;lhp kpd;dpwf;fk; milAk;NghJ Li- madpfs; Nfj;NjhbypUe;J MNdhbw;F  

ntspaplg;gLfpwJ. 
c. Ngl;lhp kpd;Ndw;wk; milAk;nghJ> Li– madpfs; mNdhbypUe;J Nfj;NjhLf;F 

ntspaplg;gLfpwJ. 
d. Ngl;lhp kpd;Ndw;wk; milAk;NghJ> Li- madpfs; Nfj;NjhbypUe;J MNdhbw;F  

ntspaplg;gLtjpy;iy. 
e. tpil njhpatpy;iy. 
 

13. The Beneficiaries of Moovalur Ramamirtham scheme are 
a. All primary school students 
b. Girls Students who are studying from 1st to 5th Std. 
c. Girls students who are studying from 6th to 12th in government schools 
d. Girls students of first generation in schools alone 
e. Answer not known 
%tY}h; ,uhkhkpUjk; mk;ikahh; fy;tp cjtpj;njhif ngwj; jFjpahd gadhspfs; 

 a. midj;J Muk;gg;gs;sp khzth;fs; 
 b. 1 Kjy; 5 k; tFg;Gtiu gapYk; khztpah; 

c. 6 Kjy; 12 k; tFg;G tiu jkpof muRg; gs;spfspy; gapd;w ,sk;gl;l tFg;G 
tiu gapYk; khztpah; 

 d. gs;spf;fy;tp gapYk; Kjy; jiyKiw khztpah; kl;Lk; 
 e. tpil njhpatpy;iy. 
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14. Which among the following statements is / are best explaining the objective of 

“Ennum Ezhuthum Scheme?” 
I. The scheme is launched to help the children make up the loss of learning due 

to corono pandemic. 
II. The scheme is launched with the purpose of education for all. 
III. The scheme is launched with noble objective of fastening equality in society. 
IV. The scheme is launched with the aim that all children below 8 years of age 

should be able to read. Write and know numerals by 2025. 
a. I only   b. I, II and III only  c. II and IV only 
d. I and IV only  e. Answer not known 
“vz;Zk; vOj;Jk;” jpl;lj;jpd; Nehf;fq;fis gpd;tUk; $w;Wfspy; vJ rpwg;ghf 
tpsf;FfpwJ? 
I. nfhNuhdh ngUe;njhw;W fhyj;jpy; Vw;gl;l fw;wy; FiwghLfis rhpnra;a 

Foe;ijfSf;F cjTk; tz;zk; ,j;jpl;lk; njhlq;fg;gl;lJ. 
II. midtUf;Fk; fy;tp vd;w Nehf;fj;Jld; ,j;jpl;lk; njhlq;fg;gl;lJ. 
III. rkj;Jt r%fj;ij tsh;f;Fk; cahpa Nehf;fpy; ,j;jpl;lk; njhlq;fg;gl;lJ. 
IV. 2025 Mk; Mz;bw;Fs; 8 taJf;Fl;gl;l midj;J Foe;ijfSk; vOj gbf;f 

kw;Wk; vz;fis mwpe;jth;fshf khw;WtJ vd;w Nehf;fj;Jld; ,j;jpl;lk; 
njhlq;fg;gl;lJ.  

 a. I kl;Lk;   b. I,II kw;Wk; III kl;Lk;  c. II kw;Wk; IV kl;Lk;
 d.  I kw;Wk; IV kl;Lk; e. tpil njhpatpy;iy 
 

15. Match the following: 
Health Programmes   Aims/Goals 

 A. Tamil Nadu Health System 1. To provide modern and sophisticated health 
     Reform Program   care facility for poor 
 B. Tamil Nadu Health System 2.  To improve the health outcomes of urban poor 
       Project      

C.   Chief Minister’s   3. To improve the health of lower Socio – economic  
Comprehensive Health   groups 
Insurance Scheme  

 D.  Tamil Nadu Urban Health 4. To achieve SDG – 3 
       Care Project.   
  A B C D 

a. 4 3 1 2 
 b. 2 4 1 3 
 c. 4 1 2 3 
 d. 3 2 4 1 
 e.  Answer not known   
 fPo;f;fhz;gtw;iwg; nghUj;Jf: 
 
  Rfhjhuj; jpl;lq;fs;    Fwpf;Nfhs;fs; 
 

A. jkpo;ehL Rfhjhu mikg;G  1. etPd kw;Wk; cah;ju Rfhjhu trjpfis  
   kWfl;likg;Gj; jpl;lk;     ViofSf;F mspf;f        

 B. jkpo;ehL Rfhjhu mikg;Gj;  2. efu Viofspd; MNuhf;fpaj;ij cah;j;j 
    jpl;lk;       
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 C. Kjyikr;rhpd; tphpthd fhg;gPl;Lj; 3. r%f – nghUshjhu mLf;fpy; fPNo 
cs;sth;fspd;         jpl;lk;  MNuhf;fpaj;ij 
cah;j;j 
 D. jkpo;ehL efu Rfhjhuj; jpl;lk;  4.  SDG 3 – I mila 
  A B C D 
 a. 4 3 1 2 
 b. 2 4 1 3 
 c. 4 1 2 3 
 d. 3 2 4 1 
 e.  tpil njhpatpy;iy  
 

16. The objectives of the District Mental Health Programme are 
1. To provide mental health services including prevention, promotion and long 

term  
care at District health care delivery system 

2. To augment institutional capacity in terms of infrastructure, equipment and  
Human resource for mental health care 

3. Facilitating the mental health services at doorstep 
4. To promote community awareness and participation in the delivery of mental 

health services. 
a. 1,2,3 only    b. 2, 3,4 only    c. 1,2,4 only 

d. 1,3, 4 only    e. Answer not known 
 khtl;l kdeyj; jpl;lj;jpd; Fwpf;Nfhs;fshtd 

1. khtl;l Rfhjhug; ghJfhg;G tpepNahf mikg;gpy; jLg;G> gjtp cah;T kw;Wk; ePz;l 
fhy guhkhpg;G cs;spl;l kdeyr; Nritfis toq;Fjy; 

2. kdeyg; ghJfhg;Gf;fhd cs;fl;likg;G cgfuzq;fs; kw;Wk; kdpj tsk; 
Mfpatw;wpd; mbg;gilapy; epWtd jpwid mjpfhpj;jy; 

3. tPLNjhWk; kdey Nritfis vspjhf;Fjy; 
4. r%f tpopg;Gzh;it Cf;Ftpj;jy; kw;Wk; kdey Rfhjhu Nritfis toq;Ftjpy; 

gq;Nfw;wy;  
a.  1> 2> 3 kl;Lk;   b.  2> 3> 4 kl;Lk;   c.  1> 2> 4 
kl;Lk;  
d.  1> 3> 4 kl;Lk;   e. tpil njhpatpy;iy. 

 

17. Which of the following statements about GST council is not true? 
1. The members of the GST council choose one amongst themselves to be the vice-

chairperson of the council. 
2. Every decision of the GST council shall be taken by a meeting of not less than 

two-third of the weighted votes of the members present and voting. 
3. One-half of the total number of members of the GST council constitute the 

quorum at its meeting. 
a. 1 and 2  b. 2 and 3  c. 1 and 3 d. 1, 2 and 3  e. 
Answer not known 
[pv];b fTd;rpy; gw;wpa gpd;tUk; mwpf;iffspy; vJ cz;ikay;y? 
1. [pv];b fTd;rpy; cWg;gpdh;fs; jq;fspy; xUtiu fTd;rpypd; Jizj; jiytuhf 

Njh;T nra;fpwhh;fs. 
2. [pv];b fTd;rpypd; xt;nthU KbTk; fye;J nfhs;Sk; kw;Wk; thf;fspf;Fk; 

cWg;gpdh;fspd; thf;Ffspy; %d;wpy; ,uz;L gq;fpw;Ff; Fiwahj $l;lj;jhy; 
vLf;fg;gLk;. 
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3. [pv];b fTd;rpypd; nkhj;j cWg;gpdh;fspd; vz;zpf;ifapy; ghjp Ngh; mjd; 
$l;lj;jpy; Fiwe;j vz;zpf;ifapyhd egNu gq;F ngWth;. 

a. 1 kw;Wk; 2    b. 2 kw;Wk; 3    c. 2 kw;Wk; 3  

d. 1> 2 kw;Wk; 3   e. tpil njhpatpy;iy 
 

18. Which of the following statements is/are not true about the ‘governor’? 
a. He appoints the Advocate General of a State 
b. He appoints the Chancellor of Universitites in the State 
c. He appoints the Chief Minister 
d. He appoints the state Election Commissioner 
e. Answer not known 
‘khepy MSeh;’ gw;wp fPo;f;fz;l thf;fpaq;fspy; vJ/vit jtwhdJ? 
a. khepy jiyik tof;fwpQiu epakpf;fpwhh; 
b. khepyg; gy;fiy fofq;fspd; Nte;jiu epakpf;fpwhh; 
c. Kjyikr;riu epakpf;fpwhh; 
d. khepy Njh;jy; mjpfhhpia epakpf;fpwhh; 
e. tpil njhpatpy;iy 

 

19. Which of the following statement is/are correct NONOBOTS are: 
1. Robots that carry out a very specific function at nano scale level 
2. They can be injected into blood stream 
3. They can be used to measure toxic elements in the environment 
4. They are very cheap to produce 
a. 1, 2 and 4   b. 1, 3 and 4    c. 1, 2 and 3 
d. 1, 2, 3 and 4  e. Answer not known 
fPo;f;fhz;gtw;Ws; vJ/vit rhpahd $w;W ‘NANOBOT’ ehNdhghl; vdg;gLtJ 
1. xU Fwpg;gpl;l gzpia nra;a cjTk; ehNdhkPl;lh; mstpyhd NuhNgh MFk; 
2. ,tw;iw ,uj;j ehsq;fspy; cl;GFj;jyhk; 
3. ,tw;iw Rw;Wr;#oypy; cs;s er;Rg; nghUl;fis mstpl gad;gLj;jyhk;. 
4. ,tw;iw cw;gj;jp nra;tJ kpf kypthdJ 
a. 1> 2 kw;Wk; 4  b. 1> 3 kw;Wk; 4   c. 1> 2 kw;Wk; 3 
d. 1> 2> 3 kw;Wk; 4  e. tpil njhpatpy;iy 

 

20. Which of the following are correctly paired: 
i. KVK – Kisan Vigyan Kendra 
ii. SAME – Sub Mission on Agriculture Extension 
iii. NSDA – National Skill Development Agency 
iv. ATMA – Agricultural Technology Management Agency 
a. i, ii and iii   b. ii, iii and iv  c. i, iii and iv  
d. i, ii, iii and iv  e. Answer not known 
gpd;tUtdtw;wpy; vJ rhpahf ,izf;fg;gl;Ls;sJ? 
i. KVK – fprhd; tpQ;Qhd; Nfe;uh 
ii. SAME – Ntshz; tphpthf;fj; Jiz eltbf;if 
iii. NSDA – Njrpa jpwd; Nkk;ghl;L Kfik 
iv. ATMA – tptrha njhopy;El;g Nkyhz;ik Kfik 

a. i, ii kw;Wk; iii  b. ii, iii kw;Wk; iv   c. i, iii kw;Wk; iv 
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d. i, ii, iii and iv  e. tpil njhpatpy;iy 
 

21. How many number or Ramsar sites are identified in India till 15th August 2022? 
a. 82  b. 78  c. 75  d. 70  e. Answer not known 
,e;jpahtpy; vj;jid uhk;rhh; ,lq;fs; 15 Mf];l; 2022 tiu fz;lwpag;gl;Ls;sd? 
a. 82  b. 78  c. 75  d. 70  e. tpil njhpatpy;iy 

 

22. Which is the international coalition of solar-resource rich countries that are 
collectively addressing common challenges on solar-energy applications? 
a. International Solar Energy Society (ISES) 
b. International Solar Alliance (ISA) 
c. International Renewable Energy Agency (IRENA) 
d. International Energy Agency (IEA) 
e. Answer not known 
#hpa Mw;wy; gad;ghLfspy; nghJthf cs;s rthy;fis jPh;g;gJ Fwpj;J $l;lhf 
tpthjpf;f cUthd - #hpa tsk; kpFe;j ehLfspd; $l;likg;G vJ? 
a. rh;tNjr #hpa Mw;wy; r%fk; (ISES) 
b. rh;tNjr #hpa rf;jp $l;lzp (ISA) 
c. rh;tNjr GJg;gpf;fj;jf;f Mw;wy; Kfik (IRENA) 
d. rh;tNjr Mw;wy; Kfik (IEA) 
e. tpil njhpatpy;iy 
 

23. Match the following and choose the correct option related to ISRO 
A. URSC  1. ISRO’s virtual space Museum 
B. ITTP  2. ISRO satellite centre 
C. SPARK  3. Space science for school students 
D. YUVIKA 4. Technical training for ISRO staff 
 A B C D 
a. 2 3 4 1 
b. 3 1 4 2 
c. 2 4 1 3 
d. 4 3 2 1 
e. Answer not known 
ISRO njhlh;ghd fPo;f;fhz;gtw;iw nghUj;jp kw;Wk; rhpahd tpilia Njh;f 
A. URSC  1. ISRO tpd; tph;r;Rty; ];Ng]; kpa+rpak; 
B. ITTP  2. ISRO Jizf;Nfhs; epiyak; 
C. SPARK  3. gs;sp khzth;fSf;fhd tpz;ntsp mwptpay; 
D. YUVIKA  4. ISRO tpd; gzpahsh;fSf;fhd njhopy;El;gg; gapw;rp 
 A B C D 
a. 2 3 4 1 
b. 3 1 4 2 
c. 2 4 1 3 
d. 4 3 2 1 
e. tpil njhpatpy;iy 
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24. Match the winner of medal in common wealth games 2022 with their sport 
Player    Sport 
A. Sharat Kamal  1. Boxing 
B. Lakshya Sen  2. Weight lifting 
C. Mirabai Chanu  3. Table Tennis 
D. Nikhat Zareen  4. Badminton 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 4 2 1 3 
d. 2 3 4 1 
e. Answer not known 
fhkd;nty;j; 2022 tpisahl;by; gjf;fk; ntd;wth;fis mth;fsJ tpilahl;Lld; 
nghUj;Jf 
tpisahl;L tPuh;  tpisahl;L 
A. N~ul; fky;  1. Fj;J rz;il 
B. yf;]pah nrd;  2. gS J}f;Fjy; 
C. kPuhgha; rhD  3. Nki[ ge;J 
D. epf;fl; ~hpd;  4. G+ ge;J 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 4 2 1 3 
d. 2 3 4 1 
e. tpil njhpatpy;iy 
 

25. Match the following  
A. 1997  1. Anaithu Grama Anna Marumalarchi Thittam 
B. 1998  2. Varumun Kappom Thittam 
C. 2006  3. Samathuvapuram 
D. 2009  4. Namakku Naame Thittam 
 A B C D 
a. 3 4 2 1 
b. 4 3 2 1 
c. 4 1 2 3 
d. 3 1 4 2 
e. Answer not known 
fPo;f;fz;ltw;iwg; nghUj;Jf 
A. 1997  1. midj;J fpuhk mz;zh kWkyh;r;rpj; jpl;lk; 
B. 1998  2. tUk;Kd; fhg;Nghk; jpl;lk; 
C. 2006  3. rkj;JtGuk; 
D. 2009  4. ekf;F ehNk jpl;lk; 
 A B C D 
a. 3 4 2 1 
b. 4 3 2 1 
c. 4 1 2 3 
d. 3 1 4 2 
e. tpil njhpatpy;iy 
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26. How many pairs are correctly matched? 
Vaccine    Nature 
1. Pfizer    - mRNA vaccine 
2. Covishield   - DNA based vaccine 
3. Covaxin    - Inactive vaccine 
4. Sputnik. V   - Viral vector vaccine 
a. 1 pair  b. 2 pairs  c. 3 pairs  d. 4 pairs e. 
Answer not known 
vj;jid N[hbfs; rhpahf nghUj;jg;gl;Ls;sd? 
jLg;g+rp    nray; 
1. Pfizer    - mRNA jLg;g+rp 
2. Covishield   - DNA mbg;gilapyhd jLg;g+rp 
3. Covaxin    - nraypoe;j jLg;g+rp 
4. Sputnik. V   - ituy; ntf;lh; jLg;g+rp 
a. 1 N[hb   b. 2 N[hbfs;   c. 3 N[hbfs; 
d. 4 N[hbfs;  e. tpil njhpatpy;iy 
 

27. Tamil Nadu State has which of the following policy/policies? 
1. Tamil Nadu R and D Policy 
2. Tamil Nadu Life Sciences Promotion Policy  
3. Tamil Nadu Footwear and Leather Products Policy 
4. Tamil Nadu Fintech Policy 
a. 1, 3 and 4   b. 1 and 3   c. 1, 2 and 3 
d. 1, 2 and 4   e. Answer not known 
jkpo;ehL khepyk; gpd;tUk; nfhs;if/nfhs;iffspy; vij ngw;Ws;sJ? 
1. jkpo;ehL R kw;Wk; D ghyprp 
2. jkpo;ehL Life Sciences Promotion ghypdp 
3. jkpo;ehL fhyzp kw;Wk; Njhy; nghUl;fs; ghyprp 
4. jkpo;ehL /gpd;nlf; ghyprp 
a. 1> 3 kw;Wk; 4  b. 1 kw;Wk; 3  c. 1> 2 kw;Wk; 3 
d. 1> 2 kw;Wk; 4  e. tpil njhpatpy;iy 

 

 

28. What are the pillar of block chain technology? 
1. Transparency  2. Immutability  3. Decentralisation 
a. 1 and 2   b. 1 and 3    c. 2 and 3   
d. 1, 2 and 3   e. Answer not known 
g;shf; nrapd; nlf;dhy[papd; J}z;fs; vit? 
1. ntspg;gilj;jd;ik 2. khWjy; ,y;yhjJ 3. gutyhf;Fjy; 
a. 1 kw;Wk; 2   b. 1 kw;Wk; 3   c. 2 kw;Wk; 3 
d. 1> 2 kw;Wk; 3  e. tpil njhpatpy;iy 
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29. Which of the following statements about the citizenship Amendment Act, (CAA) 
2019 are true? 
1. Citizenship will be granted to all the foreigners who lived in India for more than 

six years 
2. Citizenship to members of Hindus, Sikh, Buddhist, Jain, Parsi or Christian 

Communities from Afghanistan, Bangladesh and Pakistan who entered India on 
or before 31 Dec, 2014 

3. Members of specific communities will be granted citizenship within 6 years 
instead of 12 years 

4. The CAA will help to the preparation of National Register of Citizens 
a. 1 and 2 are true  b. 2 and 4 are true  c. 3 and 4 are true 
d. 2 and 3 are true  e. Answer not known 
FbAhpik jpUj;jr; rl;lk; (CAA) 2019 gw;wpa gpd;tUk; $w;Wfspy; vJ/vit 
cz;ikahdit? 
1. ,e;jpahtpy; 6 Mz;LfSf;F Nky; tho;e;j midj;J ntspehl;bdUf;Fk; FbAhpik 

toq;fg;gLk; 
2. Mg;fhdp];jhd;> gq;fshNj~; kw;Wk; ghfp];jhdpy; ,Ue;J te;J 31 brk;gh; 2014f;F 

Kd; ,e;jahtpw;Fs; Eioe;j ,e;Jf;fs;> rPf;fpah;fs;> ngsj;jh;fs;> i[dh;fs;> 
ghh;rpfs; my;yJ fpwp];Jt r%fq;fspd; cWg;gpdh;fSf;F FbAhpik  

3. Fwpg;gpl;l r%fq;fisr; Nrh;e;jth;fSf;F 12 Mz;LfSf;F gjpyhf 6 
Mz;LfSf;Fs; FbAhpik toq;fg;gLk;. 

4. Fbkf;fspd; Njrpa gjpNtl;il jahhpg;gjpy; CAA cjTk; 
a. 1 kw;Wk; 2 rhp   b. 2 kw;Wk; 4 rhp  c. 3 kw;Wk; 4 rhp 
d. 2 kw;Wk; 3 rhp   e. tpil njhpatpy;iy 
 

30. Which of the following statement is correct about the aim of Pradhan Mantri Uijwala 
Yojana (PMUY) 
a. to provide Health Service and Clean Environment to Rural Women 
b.  to provide clean energy fuel of liquified petroleum gas to all rural households 
c. to provide clean water and environment 
d. to provide quality food and health 
e. Answer not known 
gpujk ke;;jphpapd; c[thyh Nah[dh jpl;lj;jpd; (PMUY) ,d; Kf;fpa Nehf;fj;ijg; 
gw;wp gpd;tUk; $w;Wfspy; ve;j xd;W rhpahdJ?  
a. Rfhjhur; Nrit kw;Wk; Rj;jkhd Rw;Wr;#oiy fpuhkg;Gw kfspUf;F toq;f 

Ntz;Lk;.  
b. midj;J fpuhkg;Gw tPLfSf;Fk; jputkhf;fg;gl;l Rj;jkhd ngl;Nuhypa thA 

Mw;wy; vhpnghUis toq;Fjy;  
c. Rj;jkhd jz;zPh; kw;Wk; Rw;Wr;#oiy toq;f Ntz;Lk;. 
d. Rj;jkhd czT kw;Wk; Rfhjhuj;ij toq;f Ntz;Lk;.  
e. tpil njhpatpy;iy  

 
31. What are the Forms of Central Bank Digital Currency (CBDC) proposed to be 

introduced by RBI? 
 1.  Account-based   2.  Token based 
 a.  1 only    b.  2 only   c.  1 and 2  
  

d.  neither 1 nor 2   e.  answer not known 
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,e;jpa hprh;t; tq;fp mwpKfg;gLj;j cs;s ika tq;fpapd; nka;epfh; kpd;dZ 
gzj;jpd; mikg;Gfs; vt;thwhdit?  
1. tq;fpf; fzf;F mbg;gilapyhdJ  
2. milahs tpy;iy  
a. 1 kl;Lk;     b. 2 kl;Lk;   c. 1 kw;Wk; 2   
d. 1 k; ,y;iy 2k; ,y;iy  e. tpil njhpatpy;iy  

 
32. Which among the following is/are not associated with “Catch the Rain” campaign? 

i. The campaign is launched by National Water Mission 
ii. The campaign drives to make check dams and water harvesting pits 
iii. The campaign stresses the removal of obstructions in the canals 
iv. The campaign requested the central institutions to open rain centres to guide 

people to harvest rain 
 a.  i only   b.  ii and iii only   c.  i and ii only  

d.  iv only   e. Answer not known 
gpd;tUtdtw;Ws; ,af;fj;Jld;; njhlh;gpy;yhjJ vJ?  
i. ,e;j ,af;fkhdJ Njrpa ePH; gzpahy; njhlq;fg;gl;lJ  
ii. ,e;j ,af;fkhdJ> jLg;gizfs; kw;Wk; ePh; Nrfhpg;G FO eltbf;iffis 

mikf;fpwJ.  
iii. fhy;tha;fspy; cs;s jilfis mfw;w ,e;j ,af;fk; typAWj;JfpwJ.  
iv. kio ePh; Nrkpf;f kf;fSf;F topfhl;l kio ikaq;fis jpwf;FkhW ,e;j   

,af;fk; kj;jpa epWtdq;fis Nfl;Lf; nfhz;Ls;sJ.  
a. i kl;Lk;    b. ii kw;Wk; iii kl;Lk;   c. i kw;Wk; ii kl;Lk;  
d. iv kl;Lk;    e. tpil njhpatpy;iy  

 
33. The abbreviated term VVPAT stands for 
 a.  Voter Visit Poll Account Trail   

b.   Voter Visit Press Audit Trail 
 c.  Voter Verifiable Paper Audit Trail  

d.  Voter Verifiable Paper Account Trail 
 e.  Answer not known 

VVPAT vDk; RUf;fg;gl;lr; nrhy; Fwpg;gJ  
a. thf;fhsh; tUif thf;nfLg;G eilKiw  
b. thf;fhsh; njspthd gj;jphpf;if jzpf;if eilKiw  
c. thf;fhsh; rhpghh;f;ff;$ba fhfpjj; jzpf;if eilKiw  
d. thf;fhsh; rhpghh;f;ff;$ba fhfpjf; fzf;F eilKiw  
e. tpil njhpatpy;iy 

 

34. Which is/are the provision inserted in the Central Universities (Amendment) Act, 
2022 
1. Establishment of Gati Shakti Vishwa vidyala 
2. Providing high quality teaching, research and skill development in diverse 

disciplines related to physical sciences  
3. Upgradation of State Universities to Central Universities 
4. Providing high quality teaching, research and skill development in diverse 

disciplines related to transportation, technology and management. 
 a.  1 and 2   b.  2 and 3   c.  1 and 3 
 d.  1 and 4   e.  answer not known 
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kj;jpag; gy;fiyf;fofq;fs; (jpUj;jk;) rl;lk;> 2022 y; Nrh;f;fg;gl;l ruj;Jf;fs; vJ?  
1. fjp rf;jp tp~;ttpj;ayh epWtg;gly;  
2. ,aw;gpay; mwptpay; njhlh;ghd gy;NtW Jiwfspy; cah;ju fw;gpj;jy;> Muha;r;rp 

kw;Wk; jpwd;Nkk;ghL Mfpatw;iw toq;Fjy;  
3. khepyg; gy;fiyf;fofq;fis kj;jpag; gy;fiyf;fofq;fshfj; juk; cah;j;Jjy;  
4. Nghf;Ftuj;J njhopy; El;gk; kw;Wk; Ntshz;ik njhlh;ghd gy;NtW Jiwfspy; 

cah;ju fw;gpj;jy; Muha;r;rp kw;Wk; jpwd; Nkk;ghl;il toq;Fjy;  
a. 1 kw;Wk; 2   b. 2 kw;Wk; 3  c. 1 kw;Wk; 3    
d. 1 kw;Wk; 4   e. tpil njhpatpy;iy  

 

35. Pick out the correct abbreviation for the word ‘PURA’? 
a. Providing urban amenities in right areas 
b. Providing usual amenities in rural areas 
c. Providing urban amenities in regional areas 
d. Provision of urban amenities in rural areas 
e. Answer not known 
PURA vd;Dk; nrhy;ypd; rhpahd tphpthf;fj;ijj; Njh;e;njLf;f.  
a. rhpahd gFjpfspy; efh;g;Gw trjpfs; toq;Fjy;  
b. fpuhkg; gFjpfspy; tof;fkhd trjpfs; toq;Fjy;  
c. kz;lyg; gFjpfspy; efh;g;Gw trjpfs; toq;Fjy;  
d. fpuhkg;Gw gFjpfspy; efh;g;Gw trjpfis Vw;gLj;Jjy;  
e. tpil njhpatpy;iy  

 

36. According to Indian Tourism Statistics 2022, which tourist place is most visited by 
Foreign tourists? 

 a.  Taj Mahal  b.  Statue of Unity  c.  Mahabalipuram   
d.  Varanasi  e.  Answer not known 
,e;jpa Rw;Wyh Gs;sp tptuk; 2022 d; gb me;epaehl;L Rw;Wyh gazpfshy; mjpf 
mstpy; Rw;wp ghh;f;fg;gLk; Rw;Wyh jsk;  

a. jh[; k`hy;  b. ];Nll;R Mg; Aidl;b c. k`hgypGuk;    
d. thudhrp  e. tpil njhpatpy;iy  

 
37. Which one of the following is not addressed in Mission POSHAN 2.0? 

a. Malnutrition in children   b. Malnutrition in adolescent girls 
c. Pregnant and lactating mothers  d. Malnutrition in elderly 

e. Answer not known 
fPo;f;fhz;gdtw;Ws; vJ Ngh~d; 2.0 jpl;lj;jpy; $wg;glhjJ?  
a. Foe;ijfspd; Cl;lr;rj;J FiwghL  
b. gjpd;k taJ ngz;fspd; Cl;lr;rj;J FiwghL  
c. fh;g;gpzpg; ngz;fs; kw;Wk; ghY}l;Lk; jha;khh;fs;  
d. taJ Kjph;e;jth;fspd; Cl;lr;rj;J FiwghL  
e. tpil njhpatpy;iy  

 


